

فرض
مبدا

$$r \cdot \frac{1 + r - \dots}{r} \quad (1) \quad r$$

$$r \cdot \left(\frac{1}{r} + \frac{r}{r} - \frac{r}{r} \right)$$

$$r \cdot \left(\frac{1}{r} + r - r \right)$$

$$r + \frac{r}{r} + \frac{r}{r} - \frac{r}{r}$$

$$r + \frac{r}{r} + r + \frac{r}{r} =$$

$$r \cdot \frac{r + r - 1}{(1 - r + r)} \quad (2) \quad r$$

فرض

$$1 - r + r = r$$

$$1 + r = \frac{r}{r}$$

$$\frac{r}{1 + r} = r$$

$$\frac{r}{1 + r} \cdot \frac{(1 + r - 1) r}{r}$$

$$r \cdot \frac{r}{r} \cdot r$$

$$r + \frac{r}{r} =$$

$$r + (1 - r + r) r =$$

$$r + \frac{r}{(1 - r + r)} =$$

$$\frac{1}{eD+v} + \frac{2}{v} = \text{معدل الجاس}$$

في قاعدة الاقتراء v كلما \hat{v} فتمت الاقتراء
 في النقطة (٣٠٠)

بشكل المفيد

$$\left. \frac{1}{eD+v} + \frac{2}{v} = (v) \right\}$$

$$p + \frac{1}{eD+v} + \frac{2}{v} = (v)$$

... (e v)

... = (v) v

awa2el.net

$$c = v - v$$

$$= c - v - v$$

$$= (1 + v)(c - v)$$

$$\boxed{1 - v} \quad \boxed{c - v}$$

$$v \cdot | (c - v) - (v - v) | = v$$

$$v \cdot | c + v - v | =$$

$$| \sqrt{c + v} - \frac{c}{v} |$$

$$| (c - \frac{1}{v} + \frac{1}{v}) - (c + \frac{1}{v} - c) |$$

$$| \frac{1}{v} - \frac{1}{v} - 1 | =$$

$$| 0 - 1 | = | -1 | = 1$$

$$\frac{1}{v} = | \frac{1}{v} | = | \frac{1}{v} - 0 |$$

awa2el.net

ج. د

$$c^2 + 1^2 = 1 \cdot (1) \cdot c$$

$$(1 \times c \times \frac{1}{c}) + (1 \times 1 \times \frac{1}{c}) =$$

$$(1 \times c \times \frac{1}{c}) + (1 \times 1 \times \frac{1}{c}) =$$

$$1 = 1 - 1 =$$

$$1 = (1) \cdot c \cdot (1) = 1 \cdot c \cdot 1$$

$$1 = 1 \cdot (1) \cdot (1) = 1 \cdot 1 \cdot 1$$

$$1 = 1 \cdot (1) \cdot (1) = 1 \cdot 1 \cdot 1$$

$$1 = (1 - (1) \cdot c) - (1 \cdot c - (1) \cdot c)$$

$$1 = 1 + 1 - 1 - 1$$

$$1 = 1 - 1 + 1 - 1$$

$$1 = (1 - 1) + (1 - 1)$$

$$\boxed{1 = 1}$$

$$\boxed{1 = 1}$$

كامل الخصم

$$\left. \begin{aligned} (1+i)^2 &= (1+i)^2 \\ (1+i)^2 &= (1+i)^2 \end{aligned} \right\} (P) \rightarrow$$

$$P + \frac{(1+i)^2}{2} = (1+i)^2$$

$$P + (1+i)^2 = (1+i)^2$$

$$P + (1+0)^2 = (1+0)^2$$

$$P + 1 = 1$$

$$\boxed{V = P}$$

$$V + (1+i)^2 = (1+i)^2$$

$$V + (1+0)^2 = (1+0)^2$$

$$V + 1 \times 1 =$$

$$1 = V + 1 = 1$$

$$1 = 1$$

$$\vec{v} \cdot \vec{a} = \epsilon \quad \text{ب) } \vec{v} \cdot \vec{a} = \epsilon$$

$$\vec{v} \cdot \vec{a} = \epsilon \Rightarrow \vec{v} \cdot \vec{a} = \epsilon$$

خذ قارئنا المتغير في المعادلة

$$\vec{v} \cdot \vec{a} = \epsilon \Rightarrow \vec{v} \cdot \vec{a} = \epsilon$$

خذ اولاً $\vec{v} \cdot \vec{a} = \epsilon$ عند المعادلة

$$\vec{v} \cdot \vec{a} = \epsilon \Rightarrow \vec{v} \cdot \vec{a} = \epsilon$$

$$\vec{v} \cdot \vec{a} = \epsilon$$

$$\vec{v} \cdot \vec{a} = \epsilon$$

$$\vec{v} \cdot \vec{a} = \epsilon$$

$$\vec{v} \cdot \vec{a} = \epsilon$$

$$\vec{v} \cdot \vec{a} = \epsilon \Rightarrow \vec{v} \cdot \vec{a} = \epsilon$$

$$\vec{v} \cdot \vec{a} = \epsilon \Rightarrow \vec{v} \cdot \vec{a} = \epsilon$$

$$\vec{v} \cdot \vec{a} = \epsilon \Rightarrow \vec{v} \cdot \vec{a} = \epsilon$$

$$\vec{v} \cdot \vec{a} = \epsilon \Rightarrow \vec{v} \cdot \vec{a} = \epsilon$$

$$\vec{v} \cdot \vec{a} = \epsilon \Rightarrow \vec{v} \cdot \vec{a} = \epsilon$$

3
4.)

$$\binom{7}{7} - \binom{7}{3} \times \frac{2}{4} = 1 \cdot (1 - \hat{z})$$

$$\frac{7!}{7! \times 0!} - \frac{7!}{(7-3)!} \times \frac{2}{4} = 1 \cdot (1 - \hat{z})$$

$$\frac{\cancel{7!} \times \cancel{10} \times \cancel{1} \times \hat{7}}{\cancel{7!} \times \cancel{1} \times \cancel{2}} - \frac{\cancel{7!} \times \cancel{3} \times \cancel{2} \times \cancel{1}}{\cancel{7!}} \times \frac{\cancel{2}}{\cancel{4}} = 1 \cdot (1 - \hat{z})$$

$$10 \times 1 - 3 \times 2 \times 1 = 1 \cdot (1 - \hat{z})$$

$$10 - 6 =$$

$$4 = 1 \cdot (1 - \hat{z})$$

$$4 = 1 \cdot (1 - \hat{z})$$

$$4 = 1 - \hat{z}$$

$$\boxed{7 = \hat{z}}$$

س (ب) ٤

$$\left(\frac{9}{0}\right) \times (1.7) \div (1.0) = \text{عدد الطرف}$$

$$37 \times 7 \times 0 =$$

$$\frac{0}{0} = 9 \quad 0 = 7 \quad \text{س (ب) ٤}$$

$$\{0, 1, 0, 0\} = 7$$

$$\frac{0}{0} = \left(\frac{4}{0}\right) \left(\frac{0}{0}\right) \left(\frac{0}{0}\right) = (0=7) \div$$

$$\frac{10}{0} = \frac{34}{0} \times \frac{0}{0} \times 0 = \left(\frac{34}{0}\right) \left(\frac{0}{0}\right) \left(\frac{0}{0}\right) = (0=7) \div$$

$$\frac{2}{0} = \frac{2}{0} \times 1 = \left(\frac{2}{0}\right) \left(\frac{0}{0}\right) \left(\frac{0}{0}\right) = (0=7) \div$$

0	1	0	7
$\frac{2}{0}$	$\frac{10}{0}$	$\frac{0}{0}$	(0=7) ÷

س (ب) ٤ (01 ≥ 7 ≥ 20)

$$(1 \geq 7 \geq 0) \div = \left(\frac{21-01}{4} \geq 7 \geq \frac{21-20}{4}\right) \div$$

$$(0 \geq 7) \div - (1 \geq 7) \div =$$

$$.813 - (.9772 - 1) =$$

$$.813 - .9772 =$$

$$.813$$

العدد = العدد الكلي + المقال

$$.813 = .813 \times 1000 =$$

$$v_0 = c_1 v_1 + c_2 v_2 \quad (P \text{ 10})$$

$$1 = c_1 + c_2$$

$$0 = \frac{1}{c_1} = \frac{v_0 - c_2}{1 + c_2} = \frac{c_1 v_1 - c_2 v_2}{c_1 + c_2} = 0$$

$$\frac{c_1 v_1 - c_2 v_2}{c_1 + c_2} = 0$$

$$\boxed{v_1 = v_2} \iff \frac{c_1 v_1 - c_2 v_2}{c_1 + c_2} = 0$$

$$T = \frac{\Sigma + 0 + \lambda + \nu + 7}{0} = \bar{\nu}$$

$$\nu = \frac{\nu_0}{0} = \bar{\nu}$$

ν_0 (C)

$(\bar{\nu} - \nu)$	$(\bar{\nu} - \nu)$	$(\bar{\nu} - \nu)$	$\bar{\nu} - \nu$	$\bar{\nu} - \nu$	$\bar{\nu}$	$\bar{\nu}$
.	.	.	1	.	.	7
1	2	2	2	1	1	2
2	2	2	2	2	0	2
1	.	.	.	1	2	0
2	2	2	2	2	0	2
$\boxed{1}$	$\boxed{2}$					

$$\frac{\nu}{1} = \frac{(\bar{\nu} - \nu)(\bar{\nu} - \nu) \Sigma}{c(\bar{\nu} - \nu) \Sigma} = P$$

$$c + \nu P = \bar{\nu}$$

$$7 \times \frac{\nu}{1} - \nu = \bar{\nu} P - \bar{\nu} = 0$$

$$0, c = 1, \nu = 2$$

$$c + \nu P = \bar{\nu}$$

٤٥

$$\frac{-\sum_{i=1}^n (x_i - \bar{x})(y_i - \bar{y})}{\sqrt{\sum_{i=1}^n (x_i - \bar{x})^2 \cdot \sum_{i=1}^n (y_i - \bar{y})^2}} = 1$$

$$\frac{17}{\sqrt{64 \times 36}} = \frac{17}{24 \times 6} = \frac{17}{144}$$

$$\frac{1}{24} =$$

استنتجنا النتيجة

المتساوية بين المجموعتين